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1.  The Actual Question Paper Contains 50 Questions.

2. Each question carry an equal marks of 2 against 50 question
3. The Duration of the Test Paper is 60 Minutes

Direction: For Q No. 1-2: Give the Synonym of the words

written in capital letters below.

1. WHIMPER
(A) Contentment (B) Moan
(C) Pleasure (D)  All of these
(E) None of these
2. BUFF
(A) Enthusiast (B) Idiot
(C) Hopeless (D) All of these
(E) None of these
3. Inwhich one of the following sentences conjunction
has been correctly used.
(A) Although she was tired, but she still went on
working.
(B) He washed neither his hand or his face.
(C) He lost not only his ticket but also his luggage.
(D) No sooner do I finish this book then I shall begin
another.
(E) None of these
Direction: For Q No. 4-5: Choose the correct option
for the underlined words in contest to the sentence
given below.
4. Rajib could not recollect the incident that had
happened in childhood.
(A) Assemble (B) Memories
(C) Recall (D) Realize

(E) None of these

The hostility between Pakistan and USA has
increased in recent times.

(A) Relationship (B)
(C) Cheap (D)
(E) None of these

Indifference
Durable

Direction: For Q No 6-8: Rearrange the following

five statements marked A, B C, D and E in proper

sequence so as to form a meaningful paragraph and

then answer the questions below.

(A) At first, he thought that it was trick played by
someone.

(B) His neighbour then told him that his father was
recovering in the hospital.

(C) When he reached there he found his house locked

up.

(D) Harry received a message saying that his father
was sick.

(E) However, he did not want to take change and

rushed home.
Which statement should come SECOND in the

paragraph?
(A) A (B) B
© ¢ @®) D

(E) None of these
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7. Which statement should come LAST in the

paragraph?
(A) A (B) B
c c () D

(E) None of these

8. Which statement should come FOURTH in the

paragraph?
a) A (B) B
© ¢ D) D

(E) None of these

Direction For Q No. 9-11: Read the passage carefully

and answer the question that follow
‘The Law is an ass’, declared Mr. Bumble in ‘Oliver Twist’,
and it is often seems he was right. For punishment does not
always fit the crime and it rarely happens that a prison term
reforms a criminal.

Consider the following two cases. The first one had
happened in a village in Madurai district. One Gopal Yadav,
a hard-core criminal undergoing life sentence in the Mad-
urai Prison came out on bail for two days to perform the
last rites of his mother. But he was rearrested on the same
evening on the charges of murdering his neighbor’s son to
settle old scores.

The second case too came to Madurai Court recently.
Deserted by her husband, a drunkard, his grief-stricken
wife mixed rat poison in the food and gave in to her four
children aged between 11/2 and 9 years. Before she could
swallow the same food she was unable to bear the pitiable
sight of her children writhing in pain. She rushed them
to hospital where she disclosed everything. She was able
to save the lives of the first three children, but the law of
the country awarded her two years imprisonment (later
commuted to one year) on the charges of plotting to kill her
children. Would you say women like her are a danger to the
society? Would you call them criminal? It is right time that
we find other ways of registering our disapproval of wrong
doing. To imprison the bad is expedient-when they are dan-
gerous. To imprison the mad and the merely sad, as we do,

not only unnecessary, it is uncivilized.

9. The writed says: ‘'The Law is an ass’ because—
(A) Itisas patient as an ass
(B) It doesnot punish the criminals severely
(C) Punishment do not help to reform criminals
(D) Criminals can escape punishment
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10.

11.

12.

13.

14.

(E) None of these
The mother in the second case cannot be called a
criminal becauseshe _______.

A) Rushed her children to the hospital
B) Missed an ineffective poison in the food

D) Was deserted by her husband
E) None of these

~

(
(
(C) Was able to save three out off our children
(
(

The writer argues that punishments for people like
the woman in the second case are not necessary
becausethey __________

A) Don't commit crimes

B) Are less dangerous than other criminals

D
E) None of these

Should not be clubbed with other criminals

~

(
(
(C) Represent poor society
(
(

Which one of the following sentences is

grammatically correct?

(A) Theard him to speak on several subjects.

(B) Being arainy day Vijay decided to stay at home.

(C) The leader having been killed, the followers ran
away.

(D) He did nothing but to wander.

(E) None of these

Find the sentence in which an adverb has been
correctly used.

A) Presently he is in the room.

B) He has come a month ago.

D
E) None of these

~

(

(

(C) Away Rita went.
( Seldom had I seen such a beautiful sight.
(

Choose the correct option for the underlined word
given in the sentence below.

He insured the animosity of the ruling class because he
doctrines limitations of their power.

(A) Objection (B) Hatred

(C) Delight (D) Approval

(E) None of these




